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(viii) architecture is a Gylouig ardhitecture in which a multi-hop radio
relaying sys‘(mjﬁpppélQjﬁméhrypiétQﬁ@ﬁ@ﬂg)letworks.
(a) MCN (b) HWN (c) UCAN (d) MADF.
1. Choose the correct alternative for the following: 10x1=10
(ix) architecture is a hybrid wireless network architecture that
() bydbeiserk-deplavang aademile 15, Haddnabiltonade discoveryhrs. it is
legatethiv its honpsyogtwvork, (c) NAN (d) WAN.

(a) it sends an agent solicitation

(%) : ARSIgission scheme is a promising new technology.
A Bt g related to mobility (b) Wide band
i dyidesRaRd psulation on received packets (d) Single band

(i) NAV signals are used by w@fhﬁ)ﬁe_(ﬁthe following stations in DCF?
(a) The station that wants to send data

2.(a) th%ws%1?%6&?1%‘?8%5&&55%@( qiﬂﬁtﬁov_\/ it affects signal quality.

c) All'stations in the vicinity (;flg transmitter and receiver
(b)  Wh4d)iFhireissyotbiolg iatlededdivca? DGRe a mechanism that is used for

(i) OV R R e IS A S e S B T YRl s r&me' 3441212
(a) mobile node f)')’;llo"fn(e a}'g-enl -
3.(a) Desddbboiieigriefgenonvolutional coder with example. What(dballdobéhtmoutput
(iv)°f thah spsisiusionalepdss frdrinnpsef 10017
(b)  ShowAlHE3shyser eHERERT el ponding () RIOARHYRERULINETEHACNhen /4
shiftd PRI rautineie Qi wing tabld dbraticasinauingRusteed: used in /4

(v)shifte@BSKis a multi-carrier transmission mechanism. OFDM stands for

(a) Open FDM | Pair of Bits | Phasdh@mngeogonal FDM
(c) Ordered FDM 00 figd¥Odec FDM.
(vi) uses negcg‘]{ticn and r%@éﬁrce adaptation to address the
deficiencies of flooding. -mt/4
(a) SPIN (b) SAR I #loodihg  (d) Gossiping.
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Group - C

What is virtual channel sensing? How virtual channel sensing is implemented in
wireless network?

What is Point Coordination Function (PCF)? “Both DCF and PCF modes can
coexist within one cell” - justify.

(2+4) + (2+4) =12

Explain the agent advertisement procedure of mobile I[P. Why are the agent
advertisement messages needed? What do you mean by agent solicitation?
What is the advantage of fast retransmission? Explain the basic idea of Freeze-
TCP.
(3+1+2) + (4+2)=12
Group -D

Compare between DSR and AODV.

Name two wireless technologies for adhoc network. Explain which one of the
coordination functions among DCF and PCF is suitable for adhoc network?

6 +(2 +4)=12
How does the table driven protocols respond to the topology changes in
MANET? Which table driven routing protocol in MANET is based on classical
Bellman-Ford routing algorithm?
What is the importance of “route error” packets in route maintenance? Briefly
explain AODV routing protocol.
(2+2)+(3+5)=12
Group - E

Calculate the time complexity of BAAR protocol. Assuming the BS in an MCN
using BAAR protocol has to service n RouteRequests in unit time, calculate the
computational burden at the BS.

Discuss the pros and cons of increasing the mobility margin in the power
control scheme for hybrid wireless networks.

(4+4)+4=12

Consider sensors placed at (3, 4),(2, 5),(-4, 3),(1, 1) and (-3, -2). If the
parameters A and k in the sensing power computation are 1 and 2, respectively,
what are I and I¢ at the origin(0,0)?

Discuss the adaptability of the PICR-PDBR scheme as a Wi-Fi pricing/billing
scheme.
Wireless optical WDM rings provide high data rate networks in metropolitan
areas. Discuss possible solutions and factors to be considered for providing
reliability for a wireless optical WDM ring network.

4+(4 +4) =12
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